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Read the following passage and answer the next five question by choosing the correct
options

[ first began traveling to India 1980s, drawn by a fascination with this ancient
country that cherishes its history, has a deep reverence for learing, and harbors great
ambitions for the future. My interest in India was professional as well as personal
Microsoft was expanding, our need talent was growing, and as a CEO [ was attracted to
the vitality and ingenuity 1 saw the Indian people. 1 was really pleased when we opeand
Microsoft’s Indian headgquarters in Hyderabad in 1990,

A few years later, serval colleagues and [ were flying into Bangalore. As we made
our final approach, I looked out the window and saw an area of densely packed, tiny,
dilapidated homes stretching out for miles. At that moment one of my Indian traveling
companions declared proudly, “We have no slums in Bangalore™.

Wheather out of denial, embarrassment, or innocence, my colleague didn't see the
“other” India. I don’t mean to single him out. It can be easy to turn our eves away from
the poor. But if we do, we miss seeing a society’s full potential.

I knew at the time that 1 was very fortunate to be collaborating with the most
privileged people of India-highly educated citizens of great intelligence, diligence and
mmagination. But when Melhinda and 1 started our foundation’s work in India, we began to
meet people from the areas we'd been flving over. They had little education and poor
health, and lived in slums or poor rural areas-the kind of people many experts had told us
were holding India back, Yet our experiences in India suggests the opposite: that what
some call a weakness can instead be a source of great strength.

Our foundation began working in India a decade ago with a number of grants to
fight HIV / AIDS at a time many feared India would become a flashpoint for the dizease.
In the ten vears since, that most marginalived groups in Indian society have proved
indispensable in the fight against AIDS.

In each case, Melinda and [ have seen many examples of India's poor making
dramatic contributions for the good of the countryv. Nowhere have we seen the power of
the poor demonstrated more elearly however than in the fight to end polio. Indeed, India’s
accomplishment in eradicating polio 15 the most impressive global health suecess I've ever
seen.

Expert's predicted that polio would be eliminated in everv other country before it
was eliminated in India.

But India surprised them all: They country has now been polio-free for more than
two years. As I see it, India’s success offers a textbook seript for winning some of the
world's moat difficult battles, not only in public health, but in most every area of human
welfare, from business to agriculture to education. And they key as been the participation
of the humbleast, most vulnerable elements of the Indian population.

To be successful, any camping this big has to include three elements: a clear goal, a
comprehensive plan, and precise measurements-20 you can see what is working and what
18 not and improve the plan as you go. India’s polio program has benefited from all three.
The goal iz clear and ambitious: eliminate polio in India. The plan is massive and
comprehensive, big enough to inspire the entire nation to action, The fact that India has
fully funded its own antipolio plan is a ringing statement of Indian commitment and
self-confidence,

Above all, though, the campaign enlisted the support of the full sweep of Indian zociety,
including health works, ordinary citizens, and some of the poorest people in the most
impoverished regions of the country. This program become their cause. It created a
groundswell of enthusiasm and tapped the spirit of India

The heart of the plan was a simple and inspiring mizsion: find the children.



The campaign showed India at its best-the relentless spirit, the idealism, the
teamwork. the scientific power, the business acumen, the manufacturing skill, the
political imagination, and the vast human resources that can deploy more than two
million people ad spark the imagination of a billion. Yes, India faces challenges in many
areas that are well documented in the media. But in its fight against polio, India has
shown the world that when its people set an ambitious goal, mobilize the country, and
measure the impact, India’s promise is endless.

Sub questions

Question Number : 1 Question Id : 9209064050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following options suggests that the wrnter was interested in india
personally?

(A) Needed greater talent as Microsoft was expanding Noticed the.

(B) Vitality and ingenvity of Indian as a CEO found it to be

(C) A country that cherishes its history Admired

(D) Indian revereuce for learning

Choose the most appropriate from the options given below ;

(1) {A) only
(2) (1) only
13) (C) and (D} only
{4) (B) and (C) only

Options :

92090616001. 1
92090616002. 2
92090616003. 3
92090616004. 4

Question Number : 2 Question Id : 9209064051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with Liat I1:

To complete the information in the table

(A)

(B)

Last 1

India has fully founded its (I)
own anti-polio plan.

Elements required for the (IL)

success of a campaign.

List IT

India surprised them all by
beind polio free successfully.

Find the
polio,

children-Elimmate

(C)y The heart 18 mission of the (1) Indian Commitment a self-
polio plan. confidence,
(D) Experts predicted that polio (IV) clear goal, compreheusive plan,

would be eliminated in
every country before it was
eliminated in India.

precise measurements

Choose the most appropriate answer from the options given below:

(1) (A, (B)-0D), (C)-(IV). (D)-(D)
(Zy (A, (B)-(IV), (C)-(1), (D)-(D)
(3) (AT, (B)-(IV), (C)-(1L), (D)-(I1T)
1) (AMIV), (B)-(III). (C)-(T), (D)-(ID)

Options :

92090616005. 1
92090616006. 2
92090616007. 3
92090616008. 4

Question Number : 3 Question Id : 9209064052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Whether out of devial, embarrassment, or inocevee, my colleague didit see the “other”
India”. What dose other India refer to?

(1) Highly educated Indian Citizen

{(2) The rich Section of Indian society

(3) The politically powerful people of India

{4) The impoverished Indians.

Options :

92090616009. 1
92090616010. 2
92090616011. 3
92090616012. 4



Question Number : 4 Question Id : 9209064053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et our experience in India suggests the opposite that what some eall a weakness can be
a source of great strength”. Flow was this belief of the writer proved correct during the
polio campaign?

(1) The power of poor was demonstrated clearly in the fight to end polio.

(2) The marginalized groups 1in Indian society proved indispensable in the fight
against AIDS.

(3) The programe created a grounds well of enthusiasue and tapped the spirit of
India.

(4) The Campaign showed India at its best.

Options :

92090616013. 1
92090616014. 2
92090616015. 3
92090616016. 4

Question Number : 5 Question Id : 9209064054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What can be a sutable title for the passage?

(1) The common goal of India.
(2) The hght Against AIDS.
(3 The Amazing suceess of the polio campaign.

{4) The Indian poor class.

Options :

92090616017. 1
92090616018. 2
92090616019. 3
92090616020. 4

Question Id : 9209064049 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension






Read the following passage and answer the next five question by choosing the correct
options

[ first began traveling to India 1980s, drawn by a fascination with this ancient
country that cherishes its history, has a deep reverence for learing, and harbors great
ambitions for the future. My interest in India was professional as well as personal
Microsoft was expanding, our need talent was growing, and as a CEO [ was attracted to
the vitality and ingenuity 1 saw the Indian people. 1 was really pleased when we opeand
Microsoft’s Indian headgquarters in Hyderabad in 1990,

A few years later, serval colleagues and [ were flying into Bangalore. As we made
our final approach, I looked out the window and saw an area of densely packed, tiny,
dilapidated homes stretching out for miles. At that moment one of my Indian traveling
companions declared proudly, “We have no slums in Bangalore™.

Wheather out of denial, embarrassment, or innocence, my colleague didn't see the
“other” India. I don’t mean to single him out. It can be easy to turn our eves away from
the poor. But if we do, we miss seeing a society’s full potential.

I knew at the time that 1 was very fortunate to be collaborating with the most
privileged people of India-highly educated citizens of great intelligence, diligence and
mmagination. But when Melhinda and 1 started our foundation’s work in India, we began to
meet people from the areas we'd been flving over. They had little education and poor
health, and lived in slums or poor rural areas-the kind of people many experts had told us
were holding India back, Yet our experiences in India suggests the opposite: that what
some call a weakness can instead be a source of great strength.

Our foundation began working in India a decade ago with a number of grants to
fight HIV / AIDS at a time many feared India would become a flashpoint for the dizease.
In the ten vears since, that most marginalived groups in Indian society have proved
indispensable in the fight against AIDS.

In each case, Melinda and [ have seen many examples of India's poor making
dramatic contributions for the good of the countryv. Nowhere have we seen the power of
the poor demonstrated more elearly however than in the fight to end polio. Indeed, India’s
accomplishment in eradicating polio 15 the most impressive global health suecess I've ever
seen.

Expert's predicted that polio would be eliminated in everv other country before it
was eliminated in India.

But India surprised them all: They country has now been polio-free for more than
two years. As I see it, India’s success offers a textbook seript for winning some of the
world's moat difficult battles, not only in public health, but in most every area of human
welfare, from business to agriculture to education. And they key as been the participation
of the humbleast, most vulnerable elements of the Indian population.

To be successful, any camping this big has to include three elements: a clear goal, a
comprehensive plan, and precise measurements-20 you can see what is working and what
18 not and improve the plan as you go. India’s polio program has benefited from all three.
The goal iz clear and ambitious: eliminate polio in India. The plan is massive and
comprehensive, big enough to inspire the entire nation to action, The fact that India has
fully funded its own antipolio plan is a ringing statement of Indian commitment and
self-confidence,

Above all, though, the campaign enlisted the support of the full sweep of Indian zociety,
including health works, ordinary citizens, and some of the poorest people in the most
impoverished regions of the country. This program become their cause. It created a
groundswell of enthusiasm and tapped the spirit of India

The heart of the plan was a simple and inspiring mizsion: find the children.



The campaign showed India at its best-the relentless spirit, the idealism, the
teamwork. the scientific power, the business acumen, the manufacturing skill, the
political imagination, and the vast human resources that can deploy more than two
million people ad spark the imagination of a billion. Yes, India faces challenges in many
areas that are well documented in the media. But in its fight against polio, India has
shown the world that when its people set an ambitious goal, mobilize the country, and
measure the impact, India’s promise is endless.

Sub questions

Question Number : 1 Question Id : 9209064050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following options suggests that the wrnter was interested in india
personally?

(A) Needed greater talent as Microsoft was expanding Noticed the.

(B) Vitality and ingenvity of Indian as a CEO found it to be

(C) A country that cherishes its history Admired

(D) Indian revereuce for learning

Choose the most appropriate from the options given below ;

(1) {A) only
(2) (1) only
13) (C) and (D} only
{4) (B) and (C) only

Options :

92090616001. 1
92090616002. 2
92090616003. 3
92090616004. 4

Question Number : 2 Question Id : 9209064051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with Liat I1:

To complete the information in the table

(A)

(B)

Last 1

India has fully founded its (I)
own anti-polio plan.

Elements required for the (IL)

success of a campaign.

List IT

India surprised them all by
beind polio free successfully.

Find the
polio,

children-Elimmate

(C)y The heart 18 mission of the (1) Indian Commitment a self-
polio plan. confidence,
(D) Experts predicted that polio (IV) clear goal, compreheusive plan,

would be eliminated in
every country before it was
eliminated in India.

precise measurements

Choose the most appropriate answer from the options given below:

(1) (A, (B)-0D), (C)-(IV). (D)-(D)
(Zy (A, (B)-(IV), (C)-(1), (D)-(D)
(3) (AT, (B)-(IV), (C)-(1L), (D)-(I1T)
1) (AMIV), (B)-(III). (C)-(T), (D)-(ID)

Options :

92090616005. 1
92090616006. 2
92090616007. 3
92090616008. 4

Question Number : 3 Question Id : 9209064052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Whether out of devial, embarrassment, or inocevee, my colleague didit see the “other”
India”. What dose other India refer to?

(1) Highly educated Indian Citizen

{(2) The rich Section of Indian society

(3) The politically powerful people of India

{4) The impoverished Indians.

Options :

92090616009. 1
92090616010. 2
92090616011. 3
92090616012. 4



Question Number : 4 Question Id : 9209064053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et our experience in India suggests the opposite that what some eall a weakness can be
a source of great strength”. Flow was this belief of the writer proved correct during the
polio campaign?

(1) The power of poor was demonstrated clearly in the fight to end polio.

(2) The marginalized groups 1in Indian society proved indispensable in the fight
against AIDS.

(3) The programe created a grounds well of enthusiasue and tapped the spirit of
India.

(4) The Campaign showed India at its best.

Options :

92090616013. 1
92090616014. 2
92090616015. 3
92090616016. 4

Question Number : 5 Question Id : 9209064054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What can be a sutable title for the passage?

(1) The common goal of India.
(2) The hght Against AIDS.
(3 The Amazing suceess of the polio campaign.

{4) The Indian poor class.

Options :

92090616017. 1
92090616018. 2
92090616019. 3
92090616020. 4

Sub-Section Number : 2
Sub-Section Id : 920906132
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209064055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Read the following Sentence carefuly and identity the option that has an error.

(1) She persisted

(2) To go to the market alone
(3) Inspite of my advice

() That it would not be safe.

Options :

92090616021. 1
92090616022. 2
92090616023. 3
92090616024. 4

Question Number : 6 Question Id : 9209064055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following Sentence carefuly and identity the option that has an error.
(1) She persisted

(2) To go to the market alone

(3) Inspite of my advice

{4) That it would not be safe.

Options :

92090616021. 1
92090616022. 2
92090616023. 3
92090616024. 4

Question Number : 7 Question Id : 9209064056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I am really exhausted. I had no rest for the last two dayvs. Replace the underlined
incorrect verb with the correct one from the options given below:

(1) Had had (2) Newver had
(3) Have had {4y Ihd

Options :



92090616025. 1
92090616026. 2
92090616027. 3
92090616028. 4

Question Number : 7 Question Id : 9209064056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I am really exhausted. I had no rest for the last two davs. Replace the underlined
incorrect verb with the correct one from the options given below:

(1) Had had (2) Newver had

(3 Have had {4y Ihd

Options :

92090616025. 1
92090616026. 2
92090616027. 3
92090616028. 4

Question Number : 8 Question Id : 9209064057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the adverbial error in the following sentence by choosing the correct option:

The director of the company will speak shortly on the vision of the project.

(1) mildly {2} briefly
(3) hardly (4) kindly
Options :

92090616029. 1
92090616030. 2
92090616031. 3
92090616032. 4

Question Number : 8 Question Id : 9209064057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the adverbial error in the following sentence by choosing the correct option:
The director of the company will speak shortly on the vision of the project.

(1) mildly {2}  briefly
{3) hardly (4) kindly

Options :

92090616029. 1
92090616030. 2
92090616031. 3
92090616032. 4

Question Number : 9 Question Id : 9209064058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the option givs below, choose the word that is incorrectly spelt:

(1) Franchise (2} Abstinence
(3) Accomodation (4) Psychology
Options :

92090616033. 1
92090616034. 2
92090616035. 3
92090616036. 4

Question Number : 9 Question Id : 9209064058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the option givs below, choose the word that is incorrectly spelt:

(1) Franchise (2) Abstinence
i(3) Accomodation (4) Psychology

Options :

92090616033. 1
92090616034. 2
92090616035. 3
92090616036. 4

Question Number : 10 Question Id : 9209064059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

His AFFLUENCE was evident in the way he dressed, the house he lived in and the car he
drove choose the word that is oppsite is meaning to the word in bold.

(1) Stagnation (2) Destitition
(3 (pulence (4) Neglect
Options :

92090616037. 1
92090616038. 2
92090616039. 3
92090616040. 4

Question Number : 10 Question Id : 9209064059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

His AFFLUENCE was evident in the way he dressed, the house he lived in and the car he
drove choose the word that is oppsite is meaning to the word in bold.

(1) Stagnation (2) Destitition
(3 Opulence (1) Neglect
Options :

92090616037. 1
92090616038. 2
92090616039. 3
92090616040. 4

Question Number : 11 Question Id : 9209064060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic sphere of radius 6cm is melted and recasted into small solid balls of radius
0.6¢cm. find the number of balk so formrd.

(1) 5000 (2) 1000
(3) 2000 (4) 2400
Options :

92090616041. 1
92090616042. 2
92090616043. 3



92090616044. 4

Question Number : 11 Question Id : 9209064060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic sphere of radius 6cm is melted and recasted into small solid balls of radius
0.6cm. find the number of balk so formrd.

(1) 5000 (2) 1000
(3) 2000 (4) 2400
Options :

92090616041. 1
92090616042. 2
92090616043. 3
92090616044. 4

Question Number : 12 Question Id : 9209064061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If sing = % then find the value of 1;.:339

o - %

3) % (4) %
Options :

92090616045. 1
92090616046. 2
92090616047. 3
92090616048. 4

Question Number : 12 Question Id : 9209064061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1+ tand

If sing= % then find the value of

secf!
(1) % (2) %
B = @ %
Options :

92090616045. 1
92090616046. 2
92090616047. 3
92090616048. 4

Question Number : 13 Question Id : 9209064062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how much time will a sum of ¥ 3,300 become % 3,399 at 6% per annum, interest
compounded half yearly?

(1) 6 mnths (2) 1year
(3) 1 year 6 months (4) 2 years
Options :

92090616049. 1
92090616050. 2
92090616051. 3
92090616052. 4

Question Number : 13 Question Id : 9209064062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how much time will a sum of ¥ 3,300 become % 3,399 at 6% per annum, interest
compounded half yearly?

(1) & mnths (2) 1year
(3) 1 year 6 months (4) 2 years
Options :

92090616049. 1



92090616050. 2
92090616051. 3
92090616052. 4

Question Number : 14 Question Id : 9209064063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By selling 100 pens, a shopkeeper gains the selling price of 40 pens. Find his gain percent (
correct to 2 deciral places) :

(1 64.47% (2) 66.67%
(3) 68.80% (4) 55.59%
Options :

92090616053. 1
92090616054. 2
92090616055. 3
92090616056. 4

Question Number : 14 Question Id : 9209064063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By selling 100 pens, a shopkeeper gains the selling price of 40 pens. Find his gain percent (
correct to 2 deciral places) :

(1) 64.47% (2) 66.67%
(3) 68.80% (4) 55.59%
Options :

92090616053. 1
92090616054. 2
92090616055. 3
92090616056. 4

Question Number : 15 Question Id : 9209064064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Three men and 2 boys can do a piece of work in 10 days, which 2 men and 3 boys can do
the same work in 8 days. In how many days can 2 men and 1 boy do the work?

(1) 11 1/18 (2) 18 2/11
(3) 91/11 4) 119/1
Options :

92090616057. 1
92090616058. 2
92090616059. 3
92090616060. 4

Question Number : 15 Question Id : 9209064064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three men and 2 boys can do a piece of work in 10 days, which 2 men and 3 boys can do
the same work in 8 days. In how many days can 2 men and 1 boy do the work?

(1) 11 1/18 (2) 18 2/11
(3) 91/11 4) 119N
Options :

92090616057. 1
92090616058. 2
92090616059. 3
92090616060. 4

Question Number : 16 Question Id : 9209064065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the number having the same relationship with number given to right 3:81:: 47

(1) 64 (2) 32
(3) 256 (4) 148
Options :

92090616061. 1
92090616062. 2
92090616063. 3
92090616064. 4



Question Number : 16 Question Id : 9209064065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the number having the same relationship with number given to right 3:81:: 47

(1) o4 (2) 32
(3) 256 (4) 148
Options :

92090616061. 1
92090616062. 2
92090616063. 3
92090616064. 4

Question Number : 17 Question Id : 9209064066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the two conlusions together and decide which of them logically follows beyond
a reasonable doubt from the information given in the statement.

Statement: Irregularity is a cause for failure in UPSC exam. Some regular students fail
in the examinations

Conclusions: ()  All successful students are not regular.
(1)  All failed students are regular.

(1) only conclusion (1) follows
(2) only conclusion (I1) follows
(3) either (Il) follows

(4) neither () follows

Options :

92090616065. 1
92090616066. 2
92090616067. 3
92090616068. 4

Question Number : 17 Question Id : 9209064066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the two conlusions together and decide which of them logically follows beyond
a reasonable doubt from the information given in the statement.

Statement: Irreqularity is a cause for failure in UPSC exam. Some regular students fail
in the examinations

Conclusions: ()  All successful students are not regular.
(1)  All failed students are regular.

(1) only conclusion (1) follows
(2) only conclusion (I1) follows
(3) either (Il) follows

(4) neither (1) follows

Options :

92090616065. 1
92090616066. 2
92090616067. 3
92090616068. 4

Question Number : 18 Question Id : 9209064067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vidushi remember that her husband's birthday is after 19" but before 22" December,
where as her mother-in-law remembers that the birthday of her son is after 20" but
before 24" December. It both are right. Which day Vidushi husband birthday?

(1) 23" December (2) 22" December
(3)  21* December (4) 20" December
Options :

92090616069. 1
92090616070. 2
92090616071. 3
92090616072. 4

Question Number : 18 Question Id : 9209064067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vidushi remember that her husband's birthday is after 19" but before 22" December,
where as her mother-in-law remembers that the birthday of her son is after 20" but
before 24" December. It both are right. Which day Vidushi husband birthday?

(1) 23" December (2) 22" December
(3)  21* December (4) 20" December
Options :

92090616069. 1
92090616070. 2
92090616071. 3
92090616072. 4

Question Number : 19 Question Id : 9209064068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If SPRING is coded as RTOQOSOMOFH, then the code for MEDIUM will be:

(1) LNTDEQALM (2) LNICDOALN
(3) LNICDOALN (4) LINCEOALN
Options :

92090616073. 1
92090616074. 2
92090616075. 3
92090616076. 4

Question Number : 19 Question Id : 9209064068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If SPRING is coded as RTOQQS0OMOFH, then the code for MEDIUM will be:

(m LNTDEOALM (2) LNICDOALN
(3) LNICDOALN (4) LINCEOALN
Options :

92090616073. 1
92090616074. 2
92090616075. 3
92090616076. 4



Question Number : 20 Question Id : 9209064069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing out to a lady, a girl said, "she is the daughter-in-law of the grand mother of my
father only son”. How is the lady related to the girl?

(1) Sister (2) Sister-in-law
(3) Mother (4) Cousin
Options :

92090616077. 1
92090616078. 2
92090616079. 3
92090616080. 4

Question Number : 20 Question Id : 9209064069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing out to a lady, a girl said, "she is the daughter-in-law of the grand mother of my
father only son”. How is the lady related to the girl?

(1) Sister (2) Sister-in-law
(3) Mother (4) Cousin
Options :

92090616077. 1
92090616078. 2
92090616079. 3
92090616080. 4

Question Number : 21 Question Id : 9209064070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il -

List | (Name of Agincies) List Il (Headquarter)

(A) International Labour (I}  Vienna
Organication

(B) International Atomic ()  New York
Energy Agency
{C) United Nations (Ill) Singapore

International children’s
Emergencey Fund

(D) Asia Pacific Economic (IV) Geneva
Cooperation

Choose the correct answer from the options given below:

(1) (A)-(1V), (B)-(1), (O)-(i), (D)-(1)
(2)  (A-(V), (B)-(1), (O)-(11), (D)-(ID)
(3) (A, (B)-(IV), (O)-(11), (D)-(1D)
(4) (A0, B)-(IV), (Q)-(). (D)-()

Options :

92090616081. 1
92090616082. 2
92090616083. 3
92090616084. 4

Question Number : 21 Question Id : 9209064070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il -

List | (Name of Agincies) List Il (Headquarter)

(A) International Labour (I}  Vienna
Organication

(B) International Atomic ()  New York
Energy Agency
{C) United Nations (Ill) Singapore

International children’s
Emergencey Fund

(D) Asia Pacific Economic (IV) Geneva
Cooperation

Choose the correct answer from the options given below:

(1) (A)-(1V), (B)-(1), (O)-(i), (D)-(1)
(2)  (A-(V), (B)-(1), (O)-(11), (D)-(ID)
(3) (A, (B)-(IV), (O)-(11), (D)-(1D)
(4) (A0, B)-(IV), (Q)-(). (D)-()

Options :

92090616081. 1
92090616082. 2
92090616083. 3
92090616084. 4

Question Number : 22 Question Id : 9209064071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first women Director General of CSIR?

(1) Matalie Zorothova (2) Nallathamby Kalaiselvi
(3) Aruna Chandrapanth (4) Visakha Nagarkoti
Options :

92090616085. 1
92090616086. 2
92090616087. 3
92090616088. 4



Question Number : 22 Question Id : 9209064071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first women Director General of CSIR?

(1) Matalie Zorothova (2) Nallathamby Kalaiselvi
(3) Aruna Chandrapanth (4) Visakha Nagarkoti
Options :

92090616085. 1
92090616086. 2
92090616087. 3
92090616088. 4

Question Number : 23 Question Id : 9209064072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : The Attorreg General is the highest law officer in the country
appointed by the president under Article 76 of the constitution.

Statement |l :  The attorreg General can participate in the proceedings of the
parliament with the Right to vetas

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement |l are correct
(2) Both Statement | and Statement Il are icorrect
(3) Statement | is correct but Statement |l is icorrect
(4) Statement | is icorrect but Statement Il is correct

Options :

92090616089. 1

92090616090. 2

92090616091. 3
92090616092. 4



Question Number : 23 Question Id : 9209064072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : The Attorreg General is the highest law officer in the country
appointed by the president under Article 76 of the constitution.

Statement |l . The attorreg General can participate in the proceedings of the
parliament with the Right to vetas

In the light of the above statements, choose the most appropriate answer from the
options given below :

(n Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are icorrect
(3) Statement | is correct but Statement |l is icorrect

(4) Statement | is icorrect but Statement Il is correct

Options :

92090616089. 1
92090616090. 2
92090616091. 3
92090616092. 4

Question Number : 24 Question Id : 9209064073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | : National Rural Health Mission (NRHM) was lanched on 22"9 April,
2008.

Statement I . Objective of NRHM is to reduce Infant mortality Rate and maternal
mortality Rate

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1)

(2)

(3)

(4)

Options :

Both Statement | and Statement |l are correct

Both Statement | and Statement |l are incorrect

Statement | is correct but Statement |l is incorrect

Statement | is incorrect but Statement |l is correct

92090616093. 1
92090616094. 2
92090616095. 3
92090616096. 4

Question Number : 24 Question Id : 9209064073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | : National Rural Health Mission (NRHM) was lanched on 229 April,
2008.

Statement I . Objective of NRHM is to reduce Infant mortality Rate and maternal
mortality Rate

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement |l is incorrect

(41 Statement | is incorrect but Statement |l is correct

Options :

92090616093. 1
92090616094. 2
92090616095. 3
92090616096. 4

Question Number : 25 Question Id : 9209064074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which country's tennis team has won the DAVIS CUP 2022 tittle?

(1) Australia (2) Crotia
(3) Spain (4) Cannada
Options :

92090616097. 1
92090616098. 2
92090616099. 3
92090616100. 4



Question Number : 25 Question Id : 9209064074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which country’s tennis team has won the DAVIS CUP 2022 tittle?

(1) Australia
(3 Spain

Options :

92090616097. 1
92090616098. 2
92090616099. 3
92090616100. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section 1d :

Question Shuffling Allowed :
Is Section Default? :

Crotia

Cannada

Part B: Economics

92090682
2

Online
Mandatory
75

75

300

Yes

0

1
920906133
Yes

null

Question Number : 26 Question Id : 9209064075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| : In the simple linear regression model with an intercept, the
regression slope when multiplied by the explanatory variable
X will give the predicted Y.

Statement—Il :  In the simple linear regression model, the regression slope
indicates by how many units Y increases, given a one-unit
increase in X.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090616101. 1
92090616102. 2
92090616103. 3
92090616104. 4

Question Number : 26 Question Id : 9209064075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4= g Fwa fge o # .

FHE 1 FAEVE Oy gunY Es IoyEn uizs O goieEy 2 % 99 SUEnEE g 9 X
Ty faar s & A @igEE Y wiE g

w11 Hary e ufema ufreg § gayg 2= q9iar 2 6 X 0 vs-30E gig gR W Y §
TehIgEl 1 9fg w6 2

I FUF F e 1, T= 2 o fawed § 9 598 309 I H 997 i

(1) A 13 %9 1124 59 &
(2) T 1 3R FA 1A A59 21
(3) A 194 B, dfed FuF 11 5593 B

(1) U | WA B, ST F99 11994 B



Options :

92090616101. 1
92090616102. 2
92090616103. 3
92090616104. 4

Question Number : 27 Question Id : 9209064076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the principal operating instrument of monetary
policy of RBI currently?

1.  Repo rate

2. Bankrate

3. Cash Reserve Ratio (CRR)

4. Statutory Liguidity Ratio (SLR)

Options :

92090616105. 1
92090616106. 2
92090616107. 3
92090616108. 4

Question Number : 27 Question Id : 9209064076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gau § Fafafea 1 5 #R-m A, e, fi a9y il = e g=9eE 39w 27

(1) T (2) HH &
(3)  7TE FMER WA (CRR) (4) Hifafas @ w9E (SLR)
Options :

92090616105. 1
92090616106. 2
92090616107. 3
92090616108. 4

Question Number : 28 Question Id : 9209064077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A function is strictly concave in the interval |, if for all @ bel and L (0, 1)
1. f[(1-1)a+ib]=(1-L)f(a)+ Lf(b)
2. fl(1-A)a+ib] <(1-A)f(a)+rf(b)
3. f[(1-n)a+nrb)|=(1-1r)f(a)+Af(b)

4.  f[(1-r)a+ab)|<(1-n)f(a)+nrf(b)

Options :

92090616109. 1
92090616110. 2
92090616111. 3
92090616112. 4

Question Number : 28 Question Id : 9209064077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HE | § W AT AR B, g A a, bel 3R Ae (0, 1) F fow -

1) fl1-Rla+iblz(1-1)f@+Af(b) (@ Fl(1-A)a+ibl<(1-A)f(a)+Af(b)
@  f((1-A)a-ib)=(1-L)a+Lb (1) F((1-R)a+Ab)<ha+Ab

Options :

92090616109. 1
92090616110. 2
92090616111. 3
92090616112. 4

Question Number : 29 Question Id : 9209064078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which body decides the share of states in the tax revenues of the Centre in
India?

1.  NITI Aayog

2. Ministry of Finance
3. Finance Commission
4. Pay Commission

Options :

92090616113. 1
92090616114. 2
92090616115. 3
92090616116. 4

Question Number : 29 Question Id : 9209064078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WA 4 %3 & F-Uae ° Tedi ] Tweer! #i feiaiad § | ®F-m Fam i s g0

(1)  Hifa smm (2y Tamm 99
(3 o smam (4) T FEm
Options :

92090616113. 1
92090616114. 2
92090616115. 3
92090616116. 4

Question Number : 30 Question Id : 9209064079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Daniel Thorner referred to colonial investment in as “private investment
at public risk”.

1.  cotton textiles
2. iron and steel
3. railways
4.

agriculture



Options :

92090616117. 1
92090616118. 2
92090616119. 3
92090616120. 4

Question Number : 30 Question Id : 9209064079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 sitirafe 39fvEm i 2 a3 caEEtE wien e e ggiiE e

() Fha= (2) ¥ 3
3 4 FhH
Options :

92090616117. 1
92090616118. 2
92090616119. 3
92090616120. 4

Question Number : 31 Question Id : 9209064080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In correlation analysis, we measure the
1. degree of linear association between two variables
degree of causation between two variables

2
3. predictability of two variables
4

regression between two variables

Options :

92090616121. 1
92090616122. 2
92090616123. 3
92090616124. 4

Question Number : 31 Question Id : 9209064080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o7 =Y fayeym O, 89 U199 % B -

(1) =1 = = == fas gy & oo () =
(2) = % 99 wE-%E 599 S (fal) =
@) B & s gEigiEa w

(4) = 99 F €T g #='

Options :

92090616121. 1
92090616122. 2
92090616123. 3
92090616124. 4

Question Number : 32 Question Id : 9209064081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given the assumptions of the classical linear regression model, the ordinary
least square estimators possess some optimum properties—given in the
Gauss-Markov theorem. Which of the following is not a part of this theorem?

1.  The slope estimator Elg is a linear function of random variables
2. The expected value of f’rg is equal to zero

3. No linear unbiased estimator has lower variance then that of ﬁz

4.  The estimator 5 is an unbiased estimator of B,

Options :

92090616125. 1
92090616126. 2
92090616127. 3
92090616128. 4

Question Number : 32 Question Id : 9209064081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR T HHEEY Hige # ORI % dad SR Ha0 F UeEas § $9 72A9 0 8 - A %
E b oA H vew &) efafes § 3 @0 @ o frgm woam T 2

(1) & S b, a5 i e 21

2 P, ® vewfE oE % e Ee

(@) Tl i Frogw (amfiem) e s = waw, B, % vaw d 0 T g g
(1) e By, B w1 Fem (sEfiEa) gEmes 2

Options :

92090616125. 1
92090616126. 2
92090616127. 3
92090616128. 4

Question Number : 33 Question Id : 9209064082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fiscal deficit, revenue deficit and interest payments of a country are
R 53,344, R34,355 and R 10,144 crores respectively. What is the primary
deficit?

1. R 43,200 crores
2. R24.211 crores
3. R44,499 crores
4.

R 10,144 crores

Options :

92090616129. 1
92090616130. 2
92090616131. 3
92090616132. 4

Question Number : 33 Question Id : 9209064082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fdl o0 =1 T9wMi 9, U9 9R ST =9 PAE w®E: 53,344 ., 34,355 F, FR 10,144 %

FAZ 2| wraits 91er 59 87

(1)
(3)

Options :

43,200 FE T
44,499 FE T

92090616129. 1
92090616130. 2
92090616131. 3
92090616132. 4

(2) 24,211 Fg T4
(4) 10,144 F0= 791

Question Number : 34 Question Id : 9209064083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the utility function u(x, y)= xy and given budget constraint M =p, x + PyY .
what is the optimum bundle of consumption of x and y?

Options :

92090616133. 1
92090616134. 2
92090616135. 3
92090616136. 4

Question Number : 34 Question Id : 9209064083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



u(x, y)=xy ITETmE %em 3 & 78 w9 A M=pox+py U ox SRy F 3wEm w0
AT TR R

o (84 o [k
Xx y) X Y.

o (4.2 o [
kPJr' P}U .’-le 2Py

Options :

92090616133. 1
92090616134. 2
92090616135. 3
92090616136. 4

Question Number : 35 Question Id : 9209064084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The expansion path identifies

1. the least-cost combination of inputs required to produce various levels
of output

2. the firm's demand curve for inputs

3.  the various combinations of inputs that can be used to produce a given
level of output

4. the least-cost combination of outputs

Options :

92090616137. 1
92090616138. 2
92090616139. 3
92090616140. 4

Question Number : 35 Question Id : 9209064084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fem oy R = 2 -

(1) 3% = fafim & & 3097e & o srEvas Avml & <Had @rE qared|
(2) ¥l % fou ol % o T

(@ sl F fafim waee faa auam fou o gemen = % fom T o w2
(4)  IFUE W A - BT

Options :

92090616137. 1
92090616138. 2
92090616139. 3
92090616140. 4

Question Number : 36 Question Id : 9209064085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The data on State Domestic Product are collected for one state of India for the
period 1990 to 2010. Such a dataset is an example of:

1. cross-sectional data
2. time series data

3. pooled data
4

panel data

Options :

92090616141. 1
92090616142. 2
92090616143. 3
92090616144. 4

Question Number : 36 Question Id : 9209064085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1990 & 2010 7% 1 AUAEY F 60 9E F % U F 09 9iE IWE F Aiee vy o ) g
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Options :



92090616141. 1
92090616142. 2
92090616143. 3
92090616144. 4

Question Number : 37 Question Id : 9209064086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement—I| : In the short-run, the rising part of the marginal cost curve is
due to diminishing marginal product.

Statement—Il :  In the short-run, the falling part of the marginal cost curve
implies existence of diminishing marginal product.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4.

Statement | is false but Statement Il is true

Options :

92090616145. 1
92090616146. 2
92090616147. 3
92090616148. 4

Question Number : 37 Question Id : 9209064086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090616145. 1
92090616146. 2
92090616147. 3
92090616148. 4

Question Number : 38 Question Id : 9209064087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Coase theorem states that as long as property rights are
defined and enforced, bargaining between parties can ensure
an efficient outcome in the presence of externalities.

Reason (R) : The assignment of property rights with bargaining among
parties can resolve externality problems, when the number of
parties involved is large.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A} is not correct but (R) is correct

Options :
92090616149. 1



92090616150. 2
92090616151. 3
92090616152. 4

Question Number : 38 Question Id : 9209064087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090616149. 1
92090616150. 2
92090616151. 3
92090616152 4

Question Number : 39 Question Id : 9209064088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider an economy with perfect capital mobility, fixed price level and fixed
exchange rate. What will be the effect of a rise in foreign interest rate on output
of this economy?

1. Rise

2. Decline

3. Nochange
4. Can't say



Options :

92090616153. 1
92090616154. 2
92090616155. 3
92090616156. 4

Question Number : 39 Question Id : 9209064088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090616153. 1
92090616154. 2
92090616155. 3
92090616156. 4
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Correct Marks : 4 Wrong Marks : 1



Match List—I with List—I :

List—I List—Il
(A) | The shape of (I) | Horizontal, parallel to X-axis,
indifference curve for two utility rises as move to a lower
bads indifference curve
(B) | The shape of () | Concave to the origin

indifference curve for one
good and one bad

(C) | The shape of an|(lll)
indifference curve for one
good Y and one neutral X

(D) | The shape of an|(IV)
indifference curve for one
bad Y and one neutral X

Upward sloping

Horizontal, parallel to X-axis,
utility higher for a higher
indifference curve

Choose the correct answer from the options given below :
1. (AR (BY=(1): (CH(IV): (D))
2. (A)(llY; (B)=(Ilt); (CI-(IV); (D))
3. (A (B)=(I1); (C)=(1); (D)-(IV)

4. (AHIV); B)=(1); (C)-(); (D))

Options :

92090616157. 1
92090616158. 2
92090616159. 3
92090616160. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(I1), (B)~(T), (C)-(IV), (D)-(I1I)
(2) (A)-(ID), (B)-(I1I), (C)-(IV), (D)-(I)
(3) (A)-(1H), (B)-(II), (C)-(T), (IN-(IV)
(4) (A)-(IV}, (B)-(I), (C)-(I11I), (D)-(11)

Options :

92090616157. 1
92090616158. 2
92090616159. 3
92090616160. 4

Question Number : 41 Question Id : 9209064090 Question Type : MCQ Option Shuffling : No Is
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Match List—| with List-l :

List—I List-I
(A) | Evolution of Provincial Finance in British | (l) M. K. Gandhi
India
(B) | Essays on Indian Economics (1) | B. R. Ambedkar
(C) | Hind Swaraj () | Dadabhai Naoroji
(D) | Poverty and Un-British Rule in India (IV) | Mahadev Govind

Ranade

Choose the correct answer from the options given below :

1. (A-V); (B)=(1); (C)=(); (D)~(1)
2. (A)(II); (B)-(IV); (C)~(1); (D))
3. (A(IV); (B)=(II); (C)(I1); (D)~(1)

4. (A-(I; (BY(I): (CH-():; (D)-(V)

Options :

92090616161. 1
92090616162. 2
92090616163. 3
92090616164. 4

Question Number : 41 Question Id : 9209064090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A}(IV), (B)-(1T), (C)-(IIL), (D)-(I}
(2) (A)-(11), (B)-(IV). (C)-(D, (D)-(I1D)
(3) (A)-(IV), (B)-(I1D), (C)-(1L), (D)-(T)
{4) (A)-(ID), (BY~(T), (C)-(111), (Dy-(IV)

Options :

92090616161. 1
92090616162. 2
92090616163. 3
92090616164. 4

Question Number : 42 Question Id : 9209064091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=| with List=ll :

List—I List—II
(A) | Mode (I) | Measure of sampling variability
(B) | Quartile deviation (I1) | Measure of strength of linear relation

(C) | Correlation coefficient | (lll) | Measure of central tendency

(D) | Standard error (IV) | Measure of dispersion

Choose the correct answer from the options given below :

1. (A(I); (B)(I); (C)-(); (D)(IV)

2. (AIVY; (B)=(I); (C)~(1); (D)~(II)
3. (A(I); (B)-(IV); (C)=(II); (D))
4. (A1) B)II); (C)=(iNt); (D)IV)
Options :

92090616165. 1
92090616166. 2
92090616167. 3
92090616168. 4

Question Number : 42 Question Id : 9209064091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(I1I), (B)-(1L), (C)-(L), (D)-(IV)
(2)  (A)V), (B)-{11), (C)-(I), (D)-(1L)
{:3) (A)-(I11), (B)-(IV), (C)-(II). (D)-(T)
(4) (A)-(T), (B)-(1I), (C)-(111), (D)-(IV)



Options :

92090616165. 1
92090616166. 2
92090616167. 3
92090616168. 4

Question Number : 43 Question Id : 9209064092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A general linear programming problem which is a maximization problem in two
decision variables ( xjand x5 ) and two resource constraints (byandb; ) can be

set up in the following way :

A. Specify the inequality constraints also known as the resource constraints
as ayiXq+a8pX=by and aXy+a8xX; <by; and non-negativity
constraints: x4 =0, x; =20.

B. Solve the problem and plot the constraints on a graph in ( %4, X5 ) space to
define the feasible solution.

C. Specify the criterion function which involves maximizing a linear function:
MaXz =%y + Co X5

D. The optimal solutions given by (xj, X5) can be used to find the maximum

value of the objective function z* .

Choose the correct answer from the options given below :

1. D,A B,C

2. C:AB.D

3. C,B,DA

4. D,C, BA
Options :

92090616169. 1
92090616170. 2
92090616171. 3
92090616172. 4

Question Number : 43 Question Id : 9209064092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1
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(4) (D), (C). (B), (A)

Options :

92090616169. 1
92090616170. 2
92090616171. 3
92090616172. 4

Question Number : 44 Question Id : 9209064093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in chronological order starting with the earliest :
A. Nationalization of banks

B. Establishment of RBI

C. Launch of MNREGA

D. Second Five Year Plan

E. Establishment of SEBI

Choose the correct answer from the options given below :
1. D,A,B,E,C
2. B,D,AEC
3. DABCE
4. D,BAEC

Options :

92090616173. 1
92090616174. 2
92090616175. 3
92090616176. 4

Question Number : 44 Question Id : 9209064093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEH T B AT H IE B HICHRATER ieiEa $i sgaiedd it
(A) =% F WA
(B)  RBI#I #m
(C)  wAam H IEHE
(D) ud T=adiE g
(E)  ®eil =i =m0

4= feu mu faseai § | |E 3 W =999 Hifae
(1) (I, (A), (B). (E), (C)
(2) (B), (D), (A). (E), (C)
(3 (DN, (A), (B), (C), (E)

(4) (D). (B). (A). (E). (C)



Options :

92090616173. 1
92090616174. 2
92090616175. 3
92090616176. 4

Question Number : 45 Question Id : 9209064094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the books in chronological order of publication :

A. Theories of Surplus Value

B. The General Theory of Employment, Interest and Money
C. On the Principles of Palitical Economy and Taxation

D. An Inquiry into the Nature and Causes of the Wealth of Nations

Choose the correct answer from the options given below :

1. A B,C,D

2. D,CAB

3. BACD

4. C,B,D A
Options :

92090616177. 1
92090616178. 2
92090616179. 3
92090616180. 4

Question Number : 45 Question Id : 9209064094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090616177. 1
92090616178. 2
92090616179. 3
92090616180. 4

Question Number : 46 Question Id : 9209064095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : The inverse of y =f(x)=¢e" exists for all x>0.
Reason (R) :  f(x) is differentiable and monotonic for all x=0.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)is true but (R) is false
4. (A)is false but (R) is true

Options :
92090616181. 1



92090616182. 2
92090616183. 3
92090616184. 4

Question Number : 46 Question Id : 9209064095 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : According to the first theorem of welfare economics, a

competitive equilibrium is Pareto efficient.

Reason (R) : According to the Walras law, the value of aggregate excess

demand is zero for all prices.

In the light of the above statements, choose the correct answer from the options

given below :
1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)
3. (A)is true but (R) is false
4. (A)is false but (R) is true
Options :

92090616185. 1
92090616186. 2
92090616187. 3
92090616188. 4

Question
Question

Number : 47 Question Id : 9209064096 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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92090616186. 2
92090616187. 3
92090616188. 4

Question Number : 48 Question Id : 9209064097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : A club good is non-rival and excludable in consumption.
Reason(R) : A public good is non-rival and non-excludable in
consumption.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090616189. 1
92090616190. 2
92090616191. 3
92090616192. 4

Question Number : 48 Question Id : 9209064097 Question Type : MCQ Option Shuffling : No Is
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Options :

92090616189. 1
92090616190. 2
92090616191. 3
92090616192. 4

Question Number : 49 Question Id : 9209064098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : While calculating GDP using the expenditure approach, the
value of imports is subtracted.

Reason (R) : Imports are included when value of consumption and other
components of expenditure are calculated.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3.  (A)istrue but (R) is false

4. (A)is false but (R) is true
Options :
92090616193. 1
92090616194. 2
92090616195. 3



92090616196. 4

Question Number : 49 Question Id : 9209064098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090616193. 1
92090616194. 2
92090616195. 3
92090616196. 4

Question Number : 50 Question Id : 9209064099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) :

Reason (R)

For a differential equation x+ax=b for a=z=0,
F(x)=x=b-ax and the equilibrium is at ng. This

equilibrium is stable for a > 0.

The equilibrium is obtained for x=b-ax=0 or x=

o | o

Stability is obtained when F'(x) is
< 0. Here F'(x)=—-a and so the equilibrium is stable if a> 0.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation

of (A)

3. (A)is true but (R) is false

4. (A)is false but (R) is true

Options :

92090616197. 1
92090616198. 2
92090616199. 3
92090616200. 4

Question Number : 50 Question Id : 9209064099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



49 g ®yA B Mo ¥ vF #iMEYE (Assertion (A)) % ®9 ¥ fafEa B 91 ¢80 39F W0 (Reasons
R)FEIY :

HuEaa (A): TF FEEeHg T x+ax=b ¥ az0 & W Xx= F(x)=b-ax 3T T
I:EW%I?EE?;FFI a>0 % fou w=mi 2

FH (R) A TEE .i'=b—-ax=[]1ﬂx=£mmﬂ?ﬁ%1ﬁﬂF'{:x}=G?_,ﬁmﬁl
a
Ut B B9 F(x)=-a 3. 3fg a > 0 1 geger =i 8

I FYA & A °, = e m e 0 3 qe9s I0gE I # 9gq S

(1) (A) R (R) EET 561 & 30 (R), (A) =i 92 =awen 2

(2 (A) FR(R) I FE E, AR (R), (A) B wE = 36 R
(3) (A= 2, S (R) 981 96 8

(4) (A TE A R, o (R)HE R

Options :

92090616197. 1
92090616198. 2
92090616199. 3
92090616200. 4

Question Number : 51 Question Id : 9209064100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—| : When the demand curve shifts : if the supply curve is
steeper, then the price change is larger and the change in
the amount bought and sold is smaller, as compared to the
flatter supply curve.

Statement—Il :  When the supply curve shifts : if the demand curve is
steeper, then the price change is larger and the change in
the amount bought and sold is smaller, as compared to the
flatter demand curve.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4.

Statement | is false but Statement |l is true

Options :

92090616201. 1
92090616202. 2
92090616203. 3
92090616204. 4

Question Number : 51 Question Id : 9209064100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TG Fm femmu g .

FYH1:  FE AW G EIEAAA 21 8 8fg A g% AlauaveRn & 9 F9 WuEen S ahad
s B 2 3R gl =% 1 fafa 1 99 @ 9| F 9 i T 1 I A ofEde
% B 8l

w9 11: 79 Y 9 wEAiE 2 8 afe om 9w wfayavesd @1 @ #0 wEesdd o g &
feufa =i qeFn o Sma giEds s 2 2 3 a5 % % sin e 1 s aE A aiEd
+4 B 8l

I e F A 4, A= fou mu fowmedi d § 996 g I w99 S

(1) #4150 115 & &
(2) e 1 #HR 1 o 8
(3) e 1 HE R, o e 11 5 B
(1) FHIFEWE, I FHIITIE

Options :

92090616201. 1
92090616202. 2
92090616203. 3
92090616204. 4

Question Number : 52 Question Id : 9209064101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| : Let (X, X,) be the chosen bundle when prices are
(Py. P2) and let (y4, ¥,) is some other bundle such that

PiXq+ PaXo = P Y4+ P2 ¥2. Then if the consumer is choosing
the most preferred bundle she can afford, we must have
(X1, KZ}:"(F-;. .Vz}-

Statement—Il : If one bundle is chosen when another could have been
chosen, we can say that the first bundle is revealed preferred
to the second.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement || are true

2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4.

Statement | is false but Statement Il is true

Options :

92090616205. 1
92090616206. 2
92090616207. 3
92090616208. 4

Question Number : 52 Question Id : 9209064101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d 21 weE feu o E .

FRL: WEE (%, xp) T WE R TG (py, pp) ® A (g, yp) T I FE R,
o B poxq + Poxp = Py + Pa Y, 79 AR Il a3 g aEd waifis S A
=T HA R, A (%, X2) > (yy, ¥p) B AR

FE 11: FE TS A9 & 999 A T 2 FEie ol 1 999 R @ 5Ea o1, ¥ % A99d 2
W4H HYE W gE i de § wrefiesa 39 6 TR

IYH Y F A 4, A= fou m foawed d § 996 I0Ew I w99 S

(1) =R I3 IEH 592
(2) WA 1 3R 11 S TTem 8
(3) w193 2, of =21 1 9 2
() = 1 3HA R, Wi FU 1193 2

Options :

92090616205. 1
92090616206. 2
92090616207. 3
92090616208. 4

Question Number : 53 Question Id : 9209064102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—| : In 2020 a farmer purchased 5 new tractors at 2 2,00,000
each. He sold his 5 old tractors to other farmers for % 50,000
each in same year. The net increase in GDP 2020 due to
these transactions was % 12,50,000.

Statement—Il : In 2020 a farmer purchased 5 new tractors at ¥ 2,00,000
each. He sold his 5 old tractors to other farmers for % 50,000
each in same year. The net increase in GDP of year 2020
due to these transactions was % 10,00,000.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4.

Statement | is false but Statement 1l is true

Options :

92090616209. 1
92090616210. 2
92090616211. 3
92090616212. 4

Question Number : 53 Question Id : 9209064102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 & we Ry o

FEI: 2020 § v fREE A 2,00,000 ¥ 9 3R f @ H 5 A0 3E e I 99 I 5 T
2 50,000 ¥ 1 2 H ZH HEAl F == el 1 oAl 3 2020 F FEd 4 34 afg
12,50,000 =93 i

FYF I1: 2020 5 v fmm@ 3 2,00,000 ¥99 9fd o9 1 g0 § S 90 da wlig) 36 o 384 5 WA
S 50,000 ¥4 w1 =W H g6l FeEEl ®1 w9 g = s | 2020 & i@ 6 5 9
10,00,000 7% |

I9I FHYF % e °, Fi= e e el § 3 5eE 3ugs I w5 =994 i

(1) = 13 2E 7 &
(2) w13 11 EE T
(@) A 14 g, ofed w99 1 s 2
(4)  HE [ WEAE 8, A weE 1199 7

Options :

92090616209. 1
92090616210. 2
92090616211. 3
92090616212. 4

Question Number : 54 Question Id : 9209064103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—| : The price consumption curve is negatively sloped for a Giffen
good.
Statement—Il :  All Giffen goods are inferior goods but all inferior goods are

not Giffen goods.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement |l are true
Both Statement | and Statement |l are false

Statement | is true but Statement |l is false

oW N

Statement | is false but Statement Il is true

Options :



92090616213. 1
92090616214. 2
92090616215. 3
92090616216. 4

Question Number : 54 Question Id : 9209064103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 2 Fe fer o £

w1 Tfa aegs & o a3 9% TFReE eaH 99 2

wgA 11:  wedt Infea =gy gz swq § Ty =il afem Feqy i awqu 741 &)

TR B F T A, 79 oo fawedi 4 3 99n avge I e 9 fife

(1) 94 1 R 11 g 94 7
(2) w1 3R I1EM Tem B
@ THITEE IR IsEEE

(4) FHIFEIE A FTHINTIR

Options :

92090616213. 1
92090616214. 2
92090616215. 3
92090616216. 4

Question Number : 55 Question Id : 9209064104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement—| : When the economy is in liquidity trap, the LM curve is
horizontal.

Statement—Il :  Fiscal policy is ineffective when the economy is in liquidity
trap.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4

Statement | is false but Statement |l is true

Options :

92090616217. 1
92090616218. 2
92090616219. 3
92090616220. 4

Question Number : 55 Question Id : 9209064104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
F= g1 we fom

T 1 FE AsEEE Wed-ae | 26l 2 A LM 9 afag g2 2
FuF [1:  F= Hd=gany TEa-949 § 261 2 31 oasnm Jifn et 56 2

ITIT FHYF & A H, A= 20 0 BEEeT § 9 596 30T I H 999 i

(1) =% I3 11 2H ad §
(2) A 1SR 1A T #
(3)  FHA1HE 8, o FoE 17 2
(4) w170 &, oA HEE a8 2

Options :

92090616217. 1
92090616218. 2
92090616219. 3
92090616220. 4



Question Number : 56 Question Id : 9209064105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—| with List=Il :

List—| List-lI
(A) | Cournot Nash equilibrium (1) Price leadership model
(B) | Stackelberg model (Il) | Non-collusive
(C) | Kinked-demand curve model | (lll) First-r:npver advantage fixing
quantities
(D) | Bertrand model (IV) | Price-rigidity model

Choose the correct answer from the options given below :

1. (A1) (B)=(IV); (C)=(lll); (D)(II)

2. (A-(V); B)-(I): (C)-(ll); (D))
3. (AW(); (B)=(I); (C)~(II); (D)IV)
4. (A(ID; (By=(I); (CH(IV): (D))
Options :

92090616221. 1
92090616222. 2
92090616223. 3
92090616224. 4

Question Number : 56 Question Id : 9209064105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=11 % Fre g1 & fees Hifaw

0! 1L
(A) FAR T T (1) =ma 9 Wiz
(B) wewhoal Higd (IT)  T-Hamsm
(C) T T - |0 = &1 iz (I} WoH a9 = o AEm
(D) e Higd (IV) e A Higad

#r= few o faea 0§ Td 3 = 9949 St .

(1) (A, (B)-(IV), (C)-(I1I), (D)-(IT)
(2) (A)-(IV), (B)~(11), (C)-(I1I). (D)-(T)
(3) (A)=(L), (B)-(11I), (C)-(11), (D)-(IV)
(4) (A, (B)-(ILD). (C)-(IV). (IN-(D)

Options :

92090616221. 1
92090616222. 2
92090616223. 3
92090616224. 4

Question Number : 57 Question Id : 9209064106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List—Il :

List-I List-Il

(A) | Phillips curve () | Consumption per capita
maximum at steady state

(B) | Vertical AS curve (I1) | Debt financing by bond issues
merely postpones taxation

(C) | Golden rule level of savings (ll) | Trade-off between inflation
and unemployment

(D) | Ricardian equivalence (IV) | No long-run trade-off between
inflation and unemployment

Choose the correct answer from the options given below :

1. (AI); (B)=(1); (CH=(IV): (D)~(1I)

2. (A(I; B-(IV); (C)~(1); (D)~(II)
3. (AR(IVY, (BY=(111); (C)=(1); (D)=(11)
4. (A-(I); B)-(V): (C)=(I1); (D)~(1)
Options :

92090616225. 1
92090616226. 2
92090616227. 3
92090616228. 4

Question Number : 57 Question Id : 9209064106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % @y J=H1-11 1 Toem it

=1 =11
(A) = T () TR s=en w aia =fE Imam
(B) Zeaiar i Tum AT9H =% (1) =uy= e gm fasia =m0 fawfEs = 2
(C) == =1 =i = (I11) mﬁmiﬂammﬂgﬂ(ﬁﬁﬂmﬁﬁ
)
D) Tremfésm qeam (IV) Wame 3R T & €9 3R detEfy =R sEEn
(et A1)

g feu M Taew § |/ HE I % 9499 il

(1) {A)-(IT). (B)-(1), (C)-(IV), (D)-(111)
2 (AR, (B)-(IV). (C)-(D), (D)-(II)
(3 (ARIV), (B)-(IID), (C)-(D), (D)-(I1)
(4) (A)=(I1I), (B)-(IV), (C)-(1I), (D)-(T)

Options :

92090616225. 1
92090616226. 2
92090616227 3
92090616228. 4

Question Number : 58 Question Id : 9209064107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=ll :

List-I List—lIl
(A) | Corporate insolvency resolution | (1) Health cover for poor
process and vulnerable families
(B) | Nationally Determined | (Il} | Addressing horizontal
Contribution and vertical imbalances
(C) | Finance Commission (lll) | National Company Law
Tribunal
(D) | Ayushman Bharat PMJAY (IV) | Reduction of carbon
emissions

Choose the correct answer from the options given below :
(A1) (B (CH(IV): (D))
2. (A=) (B)(IV); (C)=(11): (D))
3. (AR (B)=(I); (CH=(I); (D}(IV)
4. (A(); (B)=(1): (CHI); (D)-(IV)

-

Options :

92090616229. 1
92090616230. 2
92090616231. 3
92090616232. 4

Question Number : 58 Question Id : 9209064107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T=1-1 % w1y Hq=1-11 % e Hifaw .

=11 =11
(&) Fofm smvE-wwma (sl (D e 9 eadle ofew = = s
ELIIE R E)
(B) = A w1 fgifE sem (IT) &FF 3R FAERE FaqeHl 1 Fa09q
(C) fam smam (IIT) T SFPal i AT

(D) = wRA 9 e H U aE (IV) e Fease o &l

g feu 7o fowedl o § BE 3w 999 i

(1) (A)-(L). (B)-(IT), (C)-(IV), (D)-(I1L)
(2) (A)-(ILD), (B)-(TV). (C)-(II), (D)~(T)
(3) (A)-(I), (B)-(11), (C)-(1I), (D)-(IV)
(4) (A)-(I1D), (B)-(D), (C)-(I1), (D)-(IV)

Options :

92090616229. 1
92090616230. 2
92090616231. 3
92090616232. 4

Question Number : 59 Question Id : 9209064108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following for natural monopoly :

A. When the firm's average cost of producing a good continuously declines,
a natural monopoly arises.

B. Under natural monopoly, economic profits are positive or greater than
zero in equilibrium.

C. A market is a natural monopoly when a good is produced most
economically by a single firm.

D. Natural monopoly follows marginal cost pricing at all times.
Choose the correct answer from the options given below :
1.  Aand D only
B and D only
A and C only

P N

B and C only



Options :

92090616233. 1
92090616234. 2
92090616235. 3
92090616236. 4

Question Number : 59 Question Id : 9209064108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR TR 7 FefatEs w faaw Fifae
(A) va wH g B a5 % Ieed # sitea orm e et 2 9 o olos o @ 3
Eiell 2l

(B)  wrfTe THITUsR & AW, FeF SaE § J1dE A a9eE 91 1 | Afas 7 )

(C) &1 99 UF WiSids UHIER B 2 79 el w1 waifas fEeadl §9 8 Iened e W g
T = 2

(D)  Wias TSR Hea HHia @ Hiad H S F) 2

41 fem o famedl @ & T 39 & =94 A
(1) 9 (A) 3 (D)
(2)  aa (B) 3R (D)
(3) A (A) 3R ()
(4)  FFa (B) #X (C)

Options :

92090616233. 1
92090616234. 2
92090616235. 3
92090616236. 4

Question Number : 60 Question Id : 9209064109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following is related to land revenue settlements in colonial India :

A.  Bengal and Bihar had Permanent land revenue settlement, UP and Punjab
had Ryotwari system and Madras Presidency had Mahalwari system.

B. All regions had the same land revenue settlement.

C. Bengal and Bihar had Permanent settiement and UP had Mahalwari
system.

D. Bengal and Bihar had Ryotwari system and Madras Presidency had
Mahalwari system.

E. UP and Punjab had Mahalwari system and Deccan and Madras Presidency
had Ryotwari system.

Choose the correct answer from the options given below :

1. A Eonly

2. C,Donly

3. Bonly

4. C,Eonly
Options :

92090616237. 1
92090616238. 2
92090616239. 3
92090616240. 4

Question Number : 60 Question Id : 9209064109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafEs =1 @99 sfiufEtes awa ¥ 4-ueE 42w 3 2

(A)  =WE 3R faER 0 v q-usE sdEe o1, g o1 99§ eard g o i wgE wEmE o
TREETE] 99 i)

(B) =i &= § §uE Y-TeE seme 91

(C)  =me 3 faen § w99 91 S g § gEreardl gy 6

(D) == 3 faEn d Eaard wan o of v gEWia § AEeErd g o)

(E) i 37 uo" § wEeaEngl vl o i g9 i HEE mEIE 4 tEdard) uen )

49 feu mu fawedl © Q@ OE I =1 993 Hifau .
(1) Fad (A), (E)
(2)  %=EE (0), (D)
(3) a9 (B)
(4)  HEa (0), (E)
Options :
92090616237. 1
92090616238. 2

92090616239. 3
92090616240. 4

Question Number : 61 Question Id : 9209064110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A kinked demand curve under oligopoly necessarily implies
A.  adiscontinuity in the marginal revenue schedule

B. a gap in the marginal cost schedule

C. formal collusion in price determination

D. the price need not be above marginal revenue

Choose the most appropriate answer from the options given below :
1. AandB only
A only

C and D only

Ll

A and D only



Options :

92090616241. 1
92090616242. 2
92090616243. 3
92090616244. 4

Question Number : 61 Question Id : 9209064110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FATITTHR & A v fhe e O 9% = wEvEs =9 8 ffEae g g
(A) W[ TEE A § AEaa
(B) i U S A
(C)  =ma FHuRe § sig=ries Jam

(D) A % S0 TEE A S5 A AEEEa T8 2

= fou 0 fasedl ¥ | w6 I & =999 Hifa
(1)  =ad (A) 3R (B)

2y  F=E (A

(3)  &aa (C) 3 (D)

(4)  FES (A) HE (D)

Options :

92090616241. 1
92090616242. 2
92090616243. 3
92090616244. 4

Question Number : 62 Question Id : 9209064111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider a two-sector model :

Smaller the marginal propensity to save (MPS),
Steeper saving function

Smaller value of the multiplier
Consumption function has flat slope
Larger value of the multiplier

moowpx

Flatter saving function
Choose the most appropriate answer from the options given below :

1. Aand B only

2. CandEonly

3. DandEonly

4. BandD only
Options :

92090616245. 1
92090616246. 2
92090616247. 3
92090616248. 4

Question Number : 62 Question Id : 9209064111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e f3-#F% afga w fa=9n %1

MPS a1 %1 &rm-

(A) =97 Sed #2911 B
(B) 79T I qod HE AT

(C)  F0I0T Be FH S 9 28
(D) 7T N g A Fm

(E) == %ed %9 25 a1 B0

dr Teu wv fasredl O | TEl 390 % 994 wHitau :
(1)  %ad (A) 3R (B)
(2)  FHEA (C) 3 (E)
(3)  %aa (D) 3 (E)
(4) a4 (B) #R (D)
Options :
92090616245. 1
92090616246. 2

92090616247 3
92090616248. 4

Question Number : 63 Question Id : 9209064112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—] with List—Il :

List- List—II

(A) | Dandi March (I) | Peasant indebtedness

(B) | Swadeshi Movement (I1) | Peasant freedom over choice of crop

(C) | Champaran Movement | (lll) | State monopoly over salt production

(D) | Deccan Riots (IV) | Deindustrialization

Choose the correct answer from the options given below :
(A)=(IV); (B)~(I1); (C)-(1); (D)1
(A)=(11); (B)=(1V); (C)=(I1); (D))
3. (AHIV); (B)-(I); (C)-(I1); (D)-(1)
4. (Al (BHIV): (C)(1): (D)=(11)

1% R

Options :

92090616249. 1
92090616250. 2
92090616251. 3
92090616252. 4

Question Number : 63 Question Id : 9209064112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 % | =11 & T i

i1 -1
(A) =€ aEn () F5% T
(B) +EeE FEeEA (I1) %5 999 T fomael 61 @
(C) =R A (ITT) 9 302 T =T F THITHT
(D) &FR En (V) Tt sitenfrrm

=i feu o Tl © © Wl I W 994 Hifaw .

(1) {(A)-(IV), (B)-(11II), (C)~(I), (D)~(1I)
(2) {(A)-(HIT), (B)-(IV), (C)-(1I), (D)-(T)
(3) (A)-(IV), (B)-(I11). (C)-(11), (D)-(I)
(4) (A)-(I11). (B)-(TV), (C)-(I), (D)-(1T)

Options :



92090616249. 1
92090616250. 2
92090616251. 3
92090616252. 4

Question Number : 64 Question Id : 9209064113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sequence in chronological order of the events in world economy starting
from the earliest is :

A. East Asian Financial Crisis
Outbreak of COVID-19
Global Financial Crisis
War in Ukraine

moow

New Economic Policy (India)

Choose the correct answer from the options given below :
1. EALCB.D

2. 6B ADE

3. B.ACDE

4. C,AB.D.E

Options :

92090616253. 1
92090616254. 2
92090616255. 3
92090616256. 4

Question Number : 64 Question Id : 9209064113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Afeae sreferaryl ¥ 9eASl %1 3% G9H U IF ¥ % FOHEUHAN w0 § srafra i)
&) o o faelE awe

(B) wHIfG=-19 % WOhiZ

() dfvas faeim 59

D) THAHIG
(E) =2 famimg ifa (ama)

4= fou T fasredl ® F HE I 1 994 Hifau

(1) (E). (A), (C), (B), (I}
{2) (C), (B), (A). (D). (E)
(3 (B), (A), (C). (D), (E)

(4) (C), (A), (B), (D), (E)

Options :

92090616253. 1
92090616254. 2
92090616255. 3
92090616256. 4

Question Number : 65 Question Id : 9209064114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sequence of wage-price flexibility approach of Pigou is :

A. Wages and prices decline

Real value of assets increases

Cost decline and price decline result in price of assets falling
Unemployment increases

moow

Less savings would be undertaken and consumption increases, output
rises

Choose the correct answer from the options given below :
i. D,A.C,E.B
2. ADC.EB
3. DB.ACBE
4 D,AB.CE

Options :

92090616257. 1
92090616258. 2
92090616259. 3
92090616260. 4

Question Number : 65 Question Id : 9209064114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T % weEt-ue Srsfiea 3T & E -

(A)  Hagl 3 ge8 B Fa 2

(By il = anafas gwg =g 2

(C)  FE BT 1 059 B & THOTH ¥960 THETordl i hidd Bl & |
(D) AT = Rl

(E) &% ==a &rfl 3R 309m | 3fg 7l 8, Ir9g e &

4 fer o Tl § © TEl 39 % 994 Hifaw .

(1) (D), (A). (C). (E). (B)
(2) (A). (D). (C). (E), (B)
(:3) (D), (A). (C), (B), (E)

(4) (D), (A), (B). (C), (E)

Options :

92090616257. 1
92090616258. 2
92090616259. 3
92090616260. 4

Question Number : 66 Question Id : 9209064115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the per capita production function y =kn'5; what is the level of capital per

capita at steady state assuming depreciation (5 ) = 0.1 and rate of saving = 0.47
The rate of growth of population is assumed as 0.

1. 4
& B
3. 16
4. 2
Options :

92090616261. 1
92090616262. 2
92090616263. 3
92090616264. 4



Question Number : 66 Question Id : 9209064115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ufa =fds e ey = k00 & fom A wEl smen 4w = G = own & Rk omEm
(8)=0.1 3R 7=9a F1 & = 0.4 2| s8N 2 F & 0 FE-A 2

(1) 8] (2 2
(3} 16 (4) ,JE
Options :

92090616261. 1
92090616262. 2
92090616263. 3
92090616264. 4

Question Number : 67 Question Id : 9209064116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LM curve represents the locus of all those combinations of y and | which satisfy

% =L(y, f) for given values of M and P. What is the value cf% ?
i =L
Ly
2 i
L
3.
LY
i M
LJ’
Options :

92090616265. 1
92090616266. 2
92090616267. 3
92090616268. 4



Question Number : 67 Question Id : 9209064116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LM &% y 3 | % 3 &fl ®areal & fagoy o vl =@ & o fou 7w 9w M SR P % fom

%:L{y,r'} F T T 21 % 1 9F T 27
I

L'i Ly
1) > —_—
l:: L Lr {- :} Lrl:
) ‘L_f (1) _{“
Li L'y

Options :

92090616265. 1
92090616266. 2
92090616267. 3
92090616268. 4

Question Number : 68 Question Id : 9209064117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose that the manager of a store estimates the probability of any customer
entering the store making a purchase is 0.3. What is the expected number of
customers making a purchase from a randomly selected set of 10 customers?

1. 3
z. F
3. 241
4. 03
Options :

92090616269. 1
92090616270. 2
92090616271. 3
92090616272. 4

Question Number : 68 Question Id : 9209064117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



uen foe forelt g #1 vEEs gEE 0 waW F A Rl oaes g wdiEg e S wiiesa 0.3
AT Fa 21 A1 Agfeos ¥9 H F9HG 10 TEH & 99 5 § Be & 9T Jeh] o T
] R

(1) 3 2y 7
(3 i | 4y 0.3
Options :

92090616269. 1
92090616270. 2
92090616271. 3
92090616272. 4

Question Number : 69 Question Id : 9209064118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a random variable X, it is given that E{XE} =16 and E(X)=2. What is the
value of variance for this distribution?

= B2
2. 14
3. 16
4 2
Options :

92090616273. 1
92090616274. 2
92090616275. 3
92090616276. 4

Question Number : 69 Question Id : 9209064118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s o x % o E(X2)=16 30 E(X)=2 fem 7 &1 39 921 % &0 &1 9 4 87

(1) 12 2y 14
(3) 16 {(4) 2

Options :

92090616273. 1
92090616274. 2
92090616275. 3



92090616276. 4

Question Number : 70 Question Id : 9209064119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the assumptions of the classical linear regression model is that all the
values of the explanatory variable X must

1. all be positive

2. not all be the same
3. all be negative

4. average to zero

Options :

92090616277. 1
92090616278. 2
92090616279. 3
92090616280. 4

Question Number : 70 Question Id : 9209064119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FATEhe 1ETE AT gigs &1 U U 98 § T w1 ox & 0

(1) =1 g B (2) = Tae T E
(3 = TR = (1) TR WA I B
Options :

92090616277. 1
92090616278. 2
92090616279. 3
92090616280. 4

Question Number : 71 Question Id : 9209064120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The solution of the difference equation x; = %xH +3 is

1Y
b = EJ (xg-6)+6

b

t
(xg—3)-2

i

2. Xy = ':?"

i
v T 5]{)(;3—5}—5

1\
4. Xp= E]{xwﬁhz

Options :

92090616281. 1
92090616282. 2
92090616283. 3
92090616284. 4

Question Number : 71 Question Id : 9209064120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F FHE x1=~;-x1_1+3 & B 2

I:_I\'! 1.\[
1) x =;§J (Xg—6)+6 (2) x,:fEJ (g —8)-2
l-'-l"f |"'-1"
3) xf:ijJ (X —6)-6 (4 x; :1§J{xﬂ+5}+2
Options :

92090616281. 1
92090616282. 2
92090616283. 3
92090616284. 4

Question Number : 72 Question Id : 9209064121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



M
P

The demand for money L=0.25Y and the supply of money — =500. In this

case

1. the LM curve is vertical and defined by Y =2000 and this defines
the classical case

2. the LM curve is vertical and defined by Y =125 and this defines the
case of liquidity trap

3. the LM curve is upward sloping and defined by Y = 2000

4. the LM curve is horizontal and defined by Y =2000 and this is a
case of liquidity trap

Options :

92090616285. 1
92090616286. 2
92090616287. 3
92090616288. 4

Question Number : 72 Question Id : 9209064121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w1 i L= 0.254 aﬂxg@eﬁmﬁ%:sm 215 ferfa -

(1) LM 9% =i & 310 y = 2000 = g oftaifea # 370 98 0fas 98 &1 9iaied 4 &

() LM =% a2 3 y =125 % zm ufonfgs 21 it 98 e 9= % 9w &1 gionfiE
FAT 7

(3)  LMas 3R F1 50 gegE 2 51y = 2000 % g e 21
(4) LM% 8fa=9 2 3 y = 2000 5 g0 9ieaE | 3T 98 T S 6 O 2

Options :

92090616285. 1
92090616286. 2
92090616287. 3
92090616288. 4

Question Number : 73 Question Id : 9209064122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose the expected rate of inflation in India is 10% whereas that in US is
4%. What is the expected rate of depreciation of Indian rupee vis-a-vis US
Dollar, according to the relative purchasing power parity theory?

1. 6%

2. 3%

3. 14%

4. 25%
Options :

92090616289. 1
92090616290. 2
92090616291. 3
92090616292. 4

Question Number : 73 Question Id : 9209064122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AAT R ATA ST 7R 7 10% & 9afE 4.0, § 9% o 4% 21 afis w5 i am fagm &
¥AER, 4,09, TR H] God § R F9Y F EE B 6 SEIET o a9 87

(1) 6% (2) 3%
(:3) 14% (4) 2.5%
Options :

92090616289. 1
92090616290. 2
92090616291. 3
92090616292. 4

Question Number : 74 Question Id : 9209064123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The economy of INDUS grows at 6% per annum and its investment ratio is
31.2%. What is the capital output ratio of this economy, by the assumptions of
the Harrod-Domar model?

1. 18.72

2. B2

3. 065

4. 456
Options :

92090616293. 1
92090616294. 2
92090616295. 3
92090616296. 4

Question Number : 74 Question Id : 9209064123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T2y &1 wdorae 6% d1fds 1 o § gedl 7| 3N o HEw ST 31.2% )| #E-EhW uigw &

QAT 0 A W e 3ee S R

(1)  18.72 (2) 5.2

(3 065 (4) 486
Options :

92090616293. 1
92090616294. 2
92090616295. 3
92090616296. 4

Question Number : 75 Question Id : 9209064124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Including the Governor of the Reserve Bank of India, how many members are
there in the Monetary Policy Committee?

3. 8
2. F
3. 4
4 6
Options :

92090616297. 1
92090616298. 2
92090616299. 3
92090616300. 4

Question Number : 75 Question Id : 9209064124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRATS fias ¥ % TR % foeme, difgw Aifa wfefy # fea mee 90 E0

(1) B & 7
(3 4 (4) 6

Options :

92090616297. 1
92090616298. 2
92090616299. 3
92090616300. 4

Question Number : 76 Question Id : 9209064125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Committee to review the working of monetary system headed by
recommended monetary targeting in India.

1. D.T. Lakdawala
Sukhamoy Chakravarty

C. Rangarajan

ol

Montek Singh Ahluwalia



Options :

92090616301. 1
92090616302. 2
92090616303. 3
92090616304. 4

Question Number : 76 Question Id : 9209064125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i S H Hifaw WOIEt % HE H =) aEten % fon |t fen #1718 e g A |
Hifze wea Wi = smE & )

(1) 1.8, A (2) HEaE Fhad
(%  H. T (4) wiZw far AEeEieE
Options :

92090616301. 1
92090616302. 2
92090616303. 3
92090616304. 4

Question Number : 77 Question Id : 9209064126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Baumol-Tobin transaction demand for money approach, the
optimum number of transactions is

1. inversely related to income and directly related to transaction costs
and interest rate

2. directly related to interest rate and income and inversely related to
transaction costs

3. inversely related to income, interest rate and transaction costs

4. directly related to income, interest rate and transaction costs

Options :

92090616305. 1
92090616306. 2
92090616307. 3
92090616308. 4



Question Number : 77 Question Id : 9209064126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wz1-Togia  fou ane-2ifas S9-2 Wi % wEEn, S94-3 ) sifawan gen 2 -
(1) /W ¥ WA "8y 3 o9-29 @ 31 =309 2 6 Ty @9y

(2) =79 o 30 W9 § Ty ey 3R F9-29 9 8 giaen g9y

(3)  #M, el 30 oH- A | Yaem ey

(4) ¥, =TEe 3N SH-oF A | Yeay Hey|

Options :

92090616305. 1
92090616306. 2
92090616307. 3
92090616308. 4

Question Number : 78 Question Id : 9209064127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

r
8, x : : . .
If —— and ar—f-x are the opportunity costs of producing X in terms of Y in
Ay ay

countries A and B, and F;—X is the international price ratio of X to Y. Both the
Y
countries will go for complete specialization when

7
a8 d

1 LX{JDX{ ";x
dy Py ay

5 af.szX{af_X
ay Py gy

r
5 B _Px 8ix
aly Py 4y

P dfy @
4. X e f;x < LX
Py )y ay

Options :

92090616309. 1
92090616310. 2
92090616311. 3



92090616312. 4

Question Number : 78 Question Id : 9209064127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.
afe A sit B #9 &f Y sfa § X % seaed 61 s oA oLX sin X 3 s v ¥ Wnw X
aLy aly

S e S %Y’f-%mhfﬁf“arii#qjﬁfsm TR ]

r I
a da . a a
(1) bx P Bix @ 2x _Px 8ix

8y Py afy ay Py &y

r r

& a a8 a8
&) Lx _Px Gix @ Bx. LX

ay Pr A&y Py &y A&y
Options :

92090616309. 1
92090616310. 2
92090616311. 3
92090616312. 4

Question Number : 79 Question Id : 9209064128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a random variable X, E(X —u)* =16 [where p=E(X)] and E(X - nf=2.
What is the value of Kurtosis for this variable?

1. 4
S
3. 2
4. 1
Options :

92090616313. 1
92090616314. 2
92090616315. 3
92090616316. 4

Question Number : 79 Question Id : 9209064128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

afe aefems S X, E(X -p)* =16 [F@ pu=E(X)] 3t E(X -p)? =2 & 38 = & fow wefm
1 T R

(1) 4 (2) 8
(3 2 (4) 1

Options :

92090616313. 1
92090616314. 2
92090616315. 3
92090616316. 4

Question Number : 80 Question Id : 9209064129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A consumer has a demand function for good X given by D(P)=100-P . Where

P is the price of good X. If the price of good X is Rs.50, the value of consumer's
surplus is

1. ¥1,250

Z 3750

3. %2250

4. ¥3,050
Options :

92090616317. 1
92090616318. 2
92090616319. 3
92090616320. 4

Question Number : 80 Question Id : 9209064129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
D g WEA (P)=100-P fordfi e i fedfi 9 X S fomamywd 21 58 P 3 X F1 03
Bl afe X w1 9ea 50 5. & A I0ATEN F ATISE 1 qed B -

(1) 1,250 %. (2) 3,7507%.
(3} 2,250'%. {4y 2,250 %.
Options :

92090616317. 1



92090616318. 2
92090616319. 3
92090616320. 4

Question Number : 81 Question Id : 9209064130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The currency to deposit ratio of an economy is 0.2 and the reserve to deposit
ratio is 0.1. The value of the money multiplier is

1. 025

2. 0.33

3 3

4. 4
Options :

92090616321. 1
92090616322. 2
92090616323. 3
92090616324. 4

Question Number : 81 Question Id : 9209064130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
forelt aefemamen Hqz1 1 51 3T 0.2 2 3R S ST F RN 0.1 B 99 % TE0 B 9 B -

(1) 0.25 {2y  0.33
(3 3 {4) 4

Options :

92090616321. 1
92090616322. 2
92090616323. 3
92090616324. 4

Question Number : 82 Question Id : 9209064131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose z=f(x, y) is homogeneous of degree k. Which of the following
statements is true?

1. f—i is homogeneous of degree (k- 2)
[

-2
2. f f is homogeneous of degree (k —1)
£ yox
82z
3. Eyg is homogeneous of degree (k - 2)
&’z
4. —— is homogeneous of degree (k1)
cXcy
Options :

92090616325. 1
92090616326. 2
92090616327. 3
92090616328. 4

Question Number : 82 Question Id : 9209064131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H s s z=F(x, y) Fiaadim o & fefefsm d e s mmsm am 27

0z ; 92z
(1) —, (k=2) =% 5adE 94 £ (2) , (k=1) =1 gaFE 9@ &I
dx dydx
2 2
() ag,{k—Z]mmﬁﬁﬂmijt (4) a_z,{ku1}aa‘rﬂt-|1Fﬁztma%|
dy dxdy
Options :

92090616325. 1
92090616326. 2
92090616327. 3
92090616328. 4

Question Number : 83 Question Id : 9209064132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Second-order Taylor series approximation of f(x)=In{(1+x) at x=0 is

2
X
1 X——
2
2
X
2 X+—
2
2
3 —-X =3
2
2
X
4. —X+—
2
Options :

92090616329. 1
92090616330. 2
92090616331. 3
92090616332. 4

Question Number : 83 Question Id : 9209064132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x=0 W f(x)=In(1+ x) = fgfa-Fm ¢ d@e &1 I97H 2 -

2 2
X X
(1) X {2y X+—
2 2
(%) X x (1) X+ X
‘ 2 2

Options :

92090616329. 1
92090616330. 2
92090616331. 3
92090616332. 4

Question Number : 84 Question Id : 9209064133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tobin's g ratio refers to

1. the ratio of the market value of the firm's assets to the cost of
producing those assets

2. the ratio of the cost of producing assets to the market value of the
assets

3. the ratio of the PBT (profit before taxes) to the market value of the
firm's assets

4. the ratio of the PBT (profit before taxes) to the cost of producing
those assets

Options :

92090616333. 1
92090616334. 2
92090616335. 3
92090616336. 4

Question Number : 84 Question Id : 9209064133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2T 1 g FHIE g9 # -

(1) Tl v 1 afEnfedl #1 37 TiEfeEl % Iemes i S #1 SR 95 &1 AT
(2) Tl o 3 qitETfeEl % IEA i SR 1 HUE S giET ol 6 6 TR )
(3)  wH & oYl & 990 00 % o PBT (37 @ @9) &1 3HTE|
(4) A viwEfEE % 3emed €1 e & foe PBT (37 @ &) =1 39|

Options :

92090616333. 1
92090616334. 2
92090616335. 3
92090616336. 4

Question Number : 85 Question Id : 9209064134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose that for a random sample of size 10, the value of covariance between
two variables X and Y is 100 and the standard deviations of X and Y are 5 and

20 respectively. What is the value of regression coefficient in regression of ¥
on X ?

1. 4

2. 20

3 1

4. 025
Options :

92090616337. 1
92090616338. 2
92090616339. 3
92090616340. 4

Question Number : 85 Question Id : 9209064134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T w6 B agfeos TE W weR 10 B, 9 90 X 3R Y F #9 gefEen = oaE 100 B #R
X 3R Y %1 9 fagem w99 5 3R 20 31 91 X W Y % wfame 4, S v = W w4 Eem

(1) 4 (2 20
(3) 1 {4) 0.25

Options :

92090616337. 1
92090616338. 2
92090616339. 3
92090616340. 4

Question Number : 86 Question Id : 9209064135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : Between 1901-1951 in India, the relative product per worker
in industry increased from above average to far above
average and the relative product per worker in agriculture
decreased from below average to even further below.

Statement—Il : Between 1901-1951 in India, deindustrialization definitely
occurred.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4.

Statement | is false but Statement |l is true

Options :

92090616341. 1
92090616342. 2
92090616343. 3
92090616344. 4

Question Number : 86 Question Id : 9209064135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 21 %y feu o E .

FH1: WA H 1901 ® 1951 F &=, IO G WG I9E GG FEEAl HEd H A6E 9 99 A
H HHaH B T AN Y § HNE 39 Ui wEEAl SiHd H FH H 9 SE § seqey
LR

F I:  9d d 1901 & 1951 % &= Ffv=a #9 8 e 23907

ITE FYA & A 4, A4 G T e 4 | 996 3w I 99 S

(1) A 13 EH | #

(2)  FA 1R A ToE 2

(3) WU 19l 2, wiT w5y 11 7o 2

(4) U 17 B, @A ad 1184 2
Options :



92090616341. 1
92090616342. 2
92090616343. 3
92090616344. 4

Question Number : 87 Question Id : 9209064136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—I with List—I :

List- ListIl
[Utility functions U(xq, x5)] {MF{S,..T. x,)
(A) | Cx@ B (| Hx2+1)
(X1 +2)
(B) | (¥1+2)(x2+1) (1) J ﬁ\a—i
sz
(C) | ax;+byxy () | —ax;,
.b}ﬁ
©) | (F +x8)° (IV) 2a\xp
b

Choose the correct answer from the options given below :
T (A (BY=(); (CH(1); (DI(IV)
2. (Al (B)(IV); (C)-(I1); (D))
3. (A (BI1): (C)HIV): (D)(1)
4

(A}(1); (B)~(IV); (C)=(11); (D)1

Options :

92090616345. 1
92090616346. 2
92090616347. 3
92090616348. 4

Question Number : 87 Question Id : 9209064136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H=-1 % 719 7=1-11 1 faem $ifaw

B! =11
ERRUAGIB ] (MRS, 4, )
@A) Cxfx3 o et
(X1+2)
B) (x3+2)(x2+1) a-1
m - ﬁ]
\ X2
.bX1
D) (x2 +x3)° 2a.[x
D) (xy +x3) v =4 2

Fra fau mu fameai  § | I = 99 i

(1) (A)-(ID), (B)-(111). (C)-(I). (D)-(IV)
(2) (A)-(I1T), (B)-(IV), (C)-(IL), (D)-(D)
(3 (A1, (B)-(I), (C)-(IV), (D)-(II)
(4) (A)-(I). (B)-(IV), (C)-(1L), (D)-(I1I)

Options :

92090616345. 1
92090616346. 2
92090616347. 3
92090616348. 4

Question Number : 88 Question Id : 9209064137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let ﬁt=['€j —q] be a 2 x 2 matrix.
qg p

A.  The rank of matrix A given by r(A) is 3
B. Matrix A is orthogonal if and only if pz + qz =1
p q}

C. Transpose of matrix A is given by AT =[
-q p

D. Determinantof matrixAis |Al=p

Choose the most appropriate answer from the options given below :

1. Aand B only

2. AandConly

3. BandConly

4,  AandD only
Options :

92090616349. 1
92090616350. 2
92090616351. 3
92090616352. 4

Question Number : 88 Question Id : 9209064137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 2 % 2 % 3R % fom A=[g ";]%|

(A)  r(A) 30 Yer HWEgE A T 3 R

(B) 3TSIE A iU &, %ae ol afe p? +q2 =1

& Ar:(n q

] T e WTegE A % fauda 2
g P

() #=E A® B |Al=p

Jr= fau T femedl § | HEE I0gE I F 999 HifA
(1) =99 (A) 3T (B)
(2) A (A) 3R (C)
(3) A=A (B) #R(C)
(4)  wEE (A) (D)

Options :

92090616349. 1
92090616350. 2
92090616351. 3
92090616352. 4

Question Number : 89 Question Id : 9209064138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following points lie in the convex set of points (2, 3) and (4, 1)?
A. (3.6, ,14)

B. (1.2 38)
C. (24, 286)
D. (0.4, 48)

Choose the most appropriate answer from the options given below :
1.  AandB only

B and C only

A and C only

ol

B and D only



Options :

92090616353. 1
92090616354. 2
92090616355. 3
92090616356. 4

Question Number : 89 Question Id : 9209064138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Freferfian faga o | F-, faga (2, 3) 5N (4, 1) % Fade =4 § o1 &7
&) (36, 14)
B (1.2,38)
© (24,2.86)
D) (0.4,4.56)

4= fou mu fawedi § 8 w8 I = 99 il
(1)  #ae (A) 3 (B)
(2) |4 (B) 3 (C)
(3  FHEA (A) FHR(O)

(4)  FEA (B) ¥ (D)

Options :

92090616353. 1
92090616354. 2
92090616355. 3
92090616356. 4

Question Number : 90 Question Id : 9209064139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider a competitive market :

Suppose per unit commodity tax is imposed on the sellers,

A.  atax on the commodity creates a wedge between the price the buyers pay
and the price which sellers receive.

B. post tax equilibrium quantity increases.

C. if the supply is more elastic than demand then the tax burden falls more
heavily on buyers.

D. if the demand is more elastic than supply then the tax burden falls more
heavily on buyers.

E. imposition of the tax creates dead weight loss.
Choose the most appropriate answer from the options given below :

1. Aand C only

2. CandEonly

3. AC,Eonly

4. BandE only
Options :

92090616357. 1
92090616358. 2
92090616359. 3
92090616360. 4

Question Number : 90 Question Id : 9209064139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= yiaodi sran w faan Fifau) om it i s «w o = 5 (soifedh) == = 3 2
(A)  Tom woifedt m i % TeE qea SR feema g v e 919w giaa w6 2

(B)  wwW9Iiea = S AE gedl 2

() afg smgfd wim & sifas Sl 2 91 %= %= S Fe w s w8 a2 R

(D) Az wm smfd @ sifas FEg 2 @ % o a9 SmE T AEhs ' 8 wiiE g R

(E) & %1 AR g9 (82 92 &id) g +2a1 8|

dr= feu o fameal § § HEl IR F 999 S0
(1) == (A) H(C)

(2)  FEE (C) 3R (E)

(@)  FEF (A), () 3N (E)

(4)  %EH (B) #E(E)
Options :
92090616357. 1
92090616358. 2
92090616359. 3
92090616360. 4

Question Number : 91 Question Id : 9209064140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in the order of occurrence starting from the earliest to the
latest :

A. Ayushman Sahakar Scheme
B. Samarth Scheme or Scheme for Capacity Building in the Textile Sector.

C. Ayushman Bharat Programme or Pradhan Mantri Jan Aarogya Yojana
(PM-JAY).

D. PM Kusum Scheme
E. National Policy for Skill Development and Entrepreneurship

Choose the correct answer from the options given below :

1. D,C,ABE

2. EB,CDA

3. ABCDE

4 B,E,ACD
Options :

92090616361. 1
92090616362. 2
92090616363. 3
92090616364. 4

Question Number : 91 Question Id : 9209064140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frefafga =1 3% afeq 87 % %0 § 798 750 4 ¥4 3 % AgER =atem fifa)
(A)  HEEH 9RA

(B) =% &3 ° "y A1 F aua T A

(C) AT WA FEEA 9 T F9 A@RF g (PM-JAY)

(D)  PM FHH a1

(B) == fowm il wfam ¥ fove ogis ifs

=9 feu T fashedl d A B I W 999 il
(1) (D), (C), (A), (B), (E)
2)  (E) (B (C) (D). (A)
(3 (A) (B, (C), (D), (E)
(4) (B), (E), (A), (C). (D)

Options :

92090616361. 1
92090616362. 2
92090616363. 3
92090616364. 4

Question Number : 92 Question Id : 9209064141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gBInx _Edhx‘-
Py x| ¥
Le nX _g
Bx 4 x
? dx _2x +C
5 3
X X
2. —+—+C
3
s X X o
5 3
4 x 2x
E =~
4 5 +C
X _gX

Options :

92090616365. 1
92090616366. 2
92090616367. 3
92090616368. 4

Question Number : 92 Question Id : 9209064141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ghinx _ gdinx
J Al x 2Inx e
.,AE - g

B & x 5 3

g™t —g X X
(1) —_—tC 2) —+—+C
Eaix _ezx 5 3
5 3 4x 2x
X" X -
(3 ——-—t (4) =R e
5 3 BZx _ g
Options :

92090616365. 1
92090616366. 2
92090616367. 3
92090616368. 4

Question Number : 93 Question Id : 9209064142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An industry has two firms. They face an inverse demand function P =200-4Q

and a constant unit cost of Rs.8.0. The Cournot duopoly equilibrium price (P)
and Quantity (Q) will be

1. 8, 48 respectively

2. 72, 32 respectively
3. 104, 24 respectively
4.

8, 24 respectively

Options :

92090616369. 1
92090616370. 2
92090616371. 3
92090616372. 4

Question Number : 93 Question Id : 9209064142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TF I H 2 OHH Bl 9 v wiaem gm wEmE P =200 -4Q 1 5 S 8 # T 5 e
8.0 3. 21 71 FATz s aogea g=9 (P) 3 amn (Q) #rfl -

(1) W 8, 48 (2) HEE: 72, 32
(3) O 104, 24 (4) e B, 24
Options :

92090616369. 1
92090616370. 2
92090616371. 3
92090616372. 4

Question Number : 94 Question Id : 9209064143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The simple neoclassical Solow model assumes
1.  Hicks-neutral technological change
2.  Harrod-neutral technological change

Solow-neutral technological change

-l

Pareto-neutral technological change

Options :

92090616373. 1
92090616374. 2
92090616375. 3
92090616376. 4

Question Number : 94 Question Id : 9209064143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HH FE-YUAA Hiel SfoaEy Hioda w2 -

(1) Teoa-ger ae-h gfEd (2) FIE-TRE Ta-Thl TiEa
(3)  HE-IerA TR g (1) TEI-ZeEA T g
Options :

92090616373. 1
92090616374. 2
92090616375. 3
92090616376. 4

Question Number : 95 Question Id : 9209064144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



jmu"dx=?

X
1. 100 +C
In100
100
2 X _up
In100
x+1
a. 1w +C
x+1
x—1
4. 100 +C
x -1
Options :

92090616377. 1
92090616378. 2
92090616379. 3
92090616380. 4

Question Number : 95 Question Id : 9209064144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J 100%dx =7
X 100
(1) 15 +C (2 1 +C
In100 In100
x+1 x-1
{3) L +C {4) b +C
x+1 x=-1
Options :

92090616377. 1
92090616378. 2
92090616379. 3
92090616380. 4

Question Number : 96 Question Id : 9209064145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find g—iifo1+y+yJ1+x:D.

1 -1
(1+ x)?
2
2.
(1+x)
o =
J1+ X
1+x
1+y
Options :

92090616381. 1
92090616382. 2
92090616383. 3
92090616384. 4

Question Number : 96 Question Id : 9209064145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g xf1+y +yd1+x=0 @ %Hmmﬁﬁm—
X

=4 2
(1) (2)
(1+x)2 (1+x)
(3) < g X
: M1+ x 1+y
Options :

92090616381. 1
92090616382. 2
92090616383. 3
92090616384. 4

Question Number : 97 Question Id : 9209064146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose the slope coefficient in regression of Y on Xis 15. What will be the slope
coefficient in regression of Y +10 on X -57

1. 25
2. 10
3. 15
4 20
Options :

92090616385. 1
92090616386. 2
92090616387. 3
92090616388. 4

Question Number : 97 Question Id : 9209064146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T wifae o X W Y & 9fame 4 719 "R 1S # A X -5 W Y +10 & uEmE | 7 5eE
F1 & 7

(1) 25 2y 10
{3) 15 (4) 20
Options :

92090616385. 1
92090616386. 2
92090616387. 3
92090616388. 4

Question Number : 98 Question Id : 9209064147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose the distribution of weights of students in a college is normal with mean
60 kg and standard deviation 3 kg. Which of the following areas from the standard
normal distribution gives the probability of a randomly selected student having
weight less than 66 kg?

1. Areato the left of 2= -2

2. Areatotheleftofz=2

3. Areatotherightofz=2

4. Areatotherightof z=-2
Options :

92090616389. 1
92090616390. 2
92090616391. 3
92090616392. 4

Question Number : 98 Question Id : 9209064147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R ifau fF el =ics 8 ol & 999 1 G 60 kg 9= & |1y A99E # 99 o @=Eea 3 kg B
o " famm 3 Fafates § 8 69 @ 43 ages ®7 8 999 ol %1 wiewa g 2 e
F97 66 kg T FH B¢

(1) z=-27% 9% AW & (2) z=2% 97 3 F &3
(@) 2=2%%THE TR F & (4) z=-2% 38 AN F &
Options :

92090616389. 1
92090616390. 2
92090616391. 3
92090616392. 4

Question Number : 99 Question Id : 9209064148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If you draw a random sample of size 25 from a population whose standard
deviation is 10, what will be the standard error of sample mean?

1. 20
2 2
3. 4
4. 04
Options :

92090616393. 1
92090616394. 2
92090616395. 3
92090616396. 4

Question Number : 99 Question Id : 9209064148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gfg 9 el SEEm 8 25 % AR & U Ao T siEd w6 # e aes faeem 0 g
T AT < U qfE T4 w2 e
(1) 20 2y 2
3 4 (4) 0.4
Options :
92090616393. 1
92090616394. 2

92090616395. 3
92090616396. 4

Question Number : 100 Question Id : 9209064149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fully sterilized intervention by the Central Bank at the time of capital inflows leads
to which of the following changes in Central Bank Balance Sheet?

1. Rise in net foreign assets and decline in domestic assets
2. Decline in net foreign assets and rise in domestic assets
3. Rise in both net foreign assets and domestic assets
4.

Decline in both net foreign assets and domestic assets



Options :

92090616397. 1
92090616398. 2
92090616399. 3
92090616400. 4

Question Number : 100 Question Id : 9209064149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T % #d: VAR % 999 $59 4% g ATER | e s e 5 e S @ % qea-mE |
Frefafea ¥ 1 fem ver =1 i = 27

(1)  Tra= faesh snfemal o agmdt ot i snferal 5 3@

(2) = fEsh snfem 4 5w 3R o snferat 0 sgmad

(3  Tram fagsh snfeaal o =ie snfsal 591 o sged

(1)  Tra= fagsh snfemi s @i snfeai 241 1 5@

Options :

92090616397. 1

92090616398. 2

92090616399. 3
92090616400. 4



